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pelwieHneM) ypaBHeHUs
Ha3blBaeTcs Takoe
3Ha4YeHue nepemMeHHoWu,
NpPU KOTOPOM
ypaBHeHUe

npeBpaLlaeTcs B
BepHOe YucroBsoe
paBeHCTBO.
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Beravciimre:

1)-14 + 25
2) 23 — 46
3) 246 -3




)17 * 2
3) 13 * (-5)

4) -16 * (-3)
5)-11 * (-18)



Packporite ckoOKmM

1)—(a+b)
2) - (-n +m)
3)-(t—c)
4) - (- k
5) -2




| Ipr kaxmx X BEIpakeHue 1MMeeT
CMBICIT

1)15x + 3
X
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BHEHUVIC.

) 7x =21
) -11x = 121
4) 50x = -5

5) X(x-6)=0

6) (Xx-—2)(x+3)=0



dlIHEE 3a4d




3HaA4YeHunun t:

BblpaXXeHud St + 11 paBHO
10 BbipaXeHnsa 7t + 31

St+11=7t+31
5t—7t=31-11
-2t =20
t=20:(-2)
t=10
OTBeT: 10




2) 3Ha4yeHue BbipaxeHus 8t + 3 B
TpU pa3a bonblue 3Ha4YeHuUs
BbIpa>XeHusd 5t - 6

8t + 3 =3 (5t-6)
3t+3=15t-18
3t—15t=-18 -3
-/t=-21
t=-21:(-7)
t=3
OTBeT: 3




[lpn Kakom 3Ha4YeHuun t: 3Ha4YeHue
BbIpaxeHus 5t + 1 B ABa pa3a
MEeHbllue 3Ha4YeHUs BblpaXeHus
10t + 18

2 (5t+1)=10t+ 18
10t+2 =10t + 18
10t —10t =18 -2

Ot =16

OTBET: HET KOPHEN




Ha 5 501'IbLI.Ie 3Ha4YeHMA BblpaXKeHuA
1

a A MN

(0,25t -31) — (%t ~18) =

0,25t — 31 -%t+ 18 =

0,25t -0,25t=-18 +

OTBeT: HE



5) Pa3HOCTb BbipaXXeHuu 1,5t — 37
n1,5t-73 paBHa 36

(1,5t—37)—(1,5t—73) =36
1,5t-37-1,5t+ 73 = 36
1,5t—1,5t=36—-73 + 37
Ot=0
OTBeT: 6eCKOHEYHO MHOTO KOpI







BbIpakeHmue:

—3b—-8a+12b
+(3c—2)—(5Cc + 7)
B) 7—3(6y — 4)



OIIBeJIeM MTOT



